Quiz 53

1) You play 3NT with these cards:
aAJ107 West leads 2.
Vi3 Which card should you play from dummy?
+A108 ich card should you play from dummy
K63 Why?
N - -
W E Assuming you play &3, West wins A and leads another club
S Who has #Q?
aQ4
vA984 Should you win this trick or Hold Up?
#KJ93 Which is the Danger Hand, West or East?
®J75
How many Sure Tricks now?
How will you play diamonds?
2) You play INT with these cards:
aJ4 West leads a6
vK952
* K43 Which card should you play from dummy?
10963
W N £ Assuming you play a4 you must make 2 spade tricks.
S Why?
aA107
vA108
*A74
%J854

On a4 East produces aK and you take aA.

Who has aQ?

Which is your Work Suit?

Which card do you play at Trick 2?
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